You can use a variable, such as a, with positive integer subscripts to represent the
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terms in a sequence. —
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Formulas used to generate Sequences:

Explicit Formula

Recursive Formula

A formula that gives Aformula that allows
any term by relating you to find any term by
it to the previous using it's term #.

term or terms.
For example if | want

to find the 20th term |
can plug 20 into a formula
and get just that term.

What notation identifies ANY term
in a sequence?
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Recursive Formula Examples:

Find the first 5 terms in this sequence: fl-1vl H.15+24
a; =20 L
an=(an1)*2+1 20 1 (_4/5’ 425 3ns
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Write the first 5 terms of this sequence.

a; =1 4 R
1. 1317721725,
s 13
an = (an-1) - (an-2) ) a, =035
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A = G
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Write a recursive formula for this sequence.

-
2. 50 23736729, ... 1. 1664, - 416, 104, -26, ...
6(’] '—'/60 - -9 ) Y
An= G, -7 2. 135,16,18.5,21, ...

Write a recursive formula for this sequence.

Write a recursive formula for each sequence.

a, = 1kbY
A = (O\r\ﬂ)'('%f)

a,—=1%5
Gn= Qo 25



Explicit Formula

A formula that allows you to find any term (a;,) by using it's term # (n).

The formula must use
n=1 to find the 1st term
n=2 to find the 2nd term
n=3 to find the 3rd term....

Find the 1st, 5th, and 10th term in this sequence.
an = (n + 1)@3)"

a = ([-{-l)/%)l_l = Z~‘50:,'2.|—__1
o= (se))T oY 2 M
aio= (/oﬁo(i)/oh" — (1 (%)7 = Z((ﬂ6’5

Explicit Formula Example:

Find the 1st, 5th, and 10th term in this sequence.
an=2n?-1
a = Z-(l>L —_— ’ — )

ds= ZC%)E‘—{ T_Y?
a0= Z(w)>~| = /95

Write an explicit formula for this sequence.

n= \ = 3z Y
1. 3,9,27,81,..
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Write an explicit formula for this sequence. Write an explicit formula for this sequence.

N= 1 23« n= 1 = 3 ¥4
2. 2,4,6,8,... 3. 20, 30, 40, 50,...
2y X 10y 5w
Ay =2N
A = OQ)<Y\+L)
Write an explicit formula for this sequence. o
n= ! = 3 4 You can now finish Hwk #29
4. 10,40, 90, 160 ... :
ORCEKDRAG, Sec 11-1 Mw Lo gow!
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A n = Q@(V\L)

Problems 4-7, 13, 14,18, 19, 34, 35, 46, 47



